

SENT ON:

RECIPIENT:

Chris Johnson

111 East Maple AvenueIndependence, Missouri 64050Customer Name: City of Independence, MOJob Title: Independence Water - 35th

5700 Merriam Drive Merriam, Kansas 66203

Phone: (913) 962-8083 Email: kreinoehl@etikc.com Website: www.etikc.com

PRODUCT / SERVICE	DESCRIPTION	QTY.	UNIT PRICE	TOTAL
AXIS P3719-PLE	AXIS P3719-PLE Network Camera is a compact 15-megapixel camera with four varifocal lenses (4 x Quad HD) enabling overview and detailed surveillance. With one IP address and one network cable, the four-cameras- in-one unit provides a flexible, cost-effective solution for multidirectional surveillance. 360 IR illumination, WDR and Lightfinder technology provides excellent video quality in any light conditions. Each camera head can be individually positioned (pan, tilt, roll, and twist) along a circular track. Remote zoom and focus makes it easy to install and the clear cover, with no sharp edges, ensures undistorted views in all directions. The camera has an integrated weathershield.	1	\$1,359.15	\$1,359.15
AXIS T94N01D PENDANT KIT	AXIS T94N01D Pendant Kit comprises a weathershield and a mounting adapter for AXIS P3717-PLE Network Camera. The mounting adapter is compatible with 1.5-inch NPS thread. The kit enables AXIS P3717-PLE to be mounted on walls, poles, parapets and outer corners using AXIS T91 mounting accessories.	1	\$75.65	\$75.65
AXIS T91D61 WALL MOUNT	Chromated and powder coated aluminum wall mount with 1.5" NPS thread for fixed dome pendant kits. Cable routing from behind or through 3/4" conduit hole on the side. Includes mounting plate, pipe seal and conduit hole cover. Color: White	1	\$71.40	\$71.40



SENT ON:

PRODUCT / SERVICE	DESCRIPTION	QTY.	UNIT PRICE	TOTAL
AXIS P1455-LE 9 MM	Compact and outdoor-ready HDTV camera for day and night surveillance. NEMA 4X, IP66/67 and IK10-rated, light weight HDTV 1080p resolution fixed bullet camera providing Forensic WDR and Lightfinder 2.0. Varifocal 3-9 mm F1.6 lens with remote 3 x optical zoom and focus with automatic IR cut filter. Multiple, individually configurable H.264, H.265 and Motion JPEG streams; full HDTV 1080p at 50/60 fps. Axis Zipstream technology for reduced bandwidth and storage needs. Video motion detection, shock detection and active tampering alarm, defogging and corridor format. Audio in and I/O port, microSD/SDHC memory card slot for edge storage. OptimizedIR, a power-efficient LED technology with adaptable angle of IR illumination up to 40 meters (131 feet). Integrated bracket for easy mounting on wall and ceiling. Power over Ethernet. Operating conditions -40 C to 60 C (-40 F to 140 F). Includes removable sunshield, mounting bracket, Torx L-key, and IP66/67- rated cable glands. Midspan not included.	1	\$509.15	\$509.15
AXIS P3265-LVE	High-performance fixed dome camera with Deep Learning Processing Unit (DLPU). Forensic WDR, Lightfinder 2.0 and Optimized IR. Discreet, dust- and IK10 vandal-resistant outdoor casing. Varifocal 3.4-8.9 mm P-Iris lens with remote zoom and focus. Multiple, individually configurable streams, H.264/H.265 with Zipstream and Motion JPEG. HDTV 1080p stream up to 60 fps, 30fps with WDR. AXIS Object Analytics, Video motion detection and tampering alarm. Two-way audio and audio detection. Supervised digital input / digital output for alarm / event handling. MQTT support. Axis Edge Vault for added cyber security. MicroSD memory card slot for local storage. Powered by IEEE 802.3af/802.3at Type 1 Class 3. Extended temperature range. Includes mounting bracket and weather shield.	1	\$594.15	\$594.15
Cat6E Plenum Network Cable	23 AWG, 4 Pair, Category 6 Enhanced 550 MHz Plenum, Orange	180	\$0.41	\$73.80
3/4 in. x 10 ft. Electrical Metallic Tube (EMT) Conduit	3/4 in. x 10 ft. Electrical Metallic Tube (EMT) Conduit	18	\$19.23	\$346.14
3/4 in. Electrical Metallic Tube (EMT) Set-Screw Connector	3/4 in. Electrical Metallic Tube (EMT) Set-Screw Connector	17	\$1.00	\$17.00



SENT ON:

PRODUCT / SERVICE	DESCRIPTION	QTY.	UNIT PRICE	TOTAL
MINERALLAC 3/8-16 Beam Clamp	3/8-16 Beam Clamp, Up To 3/4" Flange, 3/8"-16 Tapped Holes Bottom & Back Of Beam Clamp, Malleable Iron	55	\$7.00	\$385.00
3/4 in. Universal Strut Pipe Clamp - Silver Galvanized	3/4 in. Universal Strut Pipe Clamp - Silver Galvanized	3	\$3.20	\$9.60
3/4 in. Rain-Tight Coupling	3/4 in. Rain-Tight Coupling	25	\$2.18	\$54.50
3/4 in. Gray 2-Gang 5- Holes Weatherproof Box	3/4 in. Gray 2-Gang 5-Holes Weatherproof Box	2	\$20.50	\$41.00
Gray 2-Gang Weatherproof Blank Cover	Gray 2-Gang Weatherproof Blank Cover	2	\$4.16	\$8.32
PROFESSIONAL INSTALLATION	Hourly labor charge for cable & hardware installation.	64	\$97.00	\$6,208.00
PROFESSIONAL SERVICES	Hourly labor charge for software & network configuration.	4	\$130.00	\$520.00
GSC-OM-E-1C	Genetec - 1 camera connection	3	\$200.00	\$600.00
ADV-CAM-E-5Y	Genetec™ Advantage for 1 Omnicast™ Enterprise Camera – 5 years	3	\$143.20	\$429.60
Articulating Boom Lift, 80 ft.	Rental of an 80 Ft. Boom Lift for two (2) weeks.	1	\$4,950.00	\$4,950.00

Scope of Work:

Electronic Technology, Inc. will install conduit around the north side of the tank at the top at the flange. ETI will install an AXIS P3719-PLE to cover the parking lot along with a P1455-LE to cover the gate. both cameras will be mounted on 2-gang boxes along the flange at the top of the tank. A P3265-LVE will be mounted on the soffit of the building to cover the approach to the front door. Reference the attached camera layout drawing for coverage detail.

The conduit will protect Cat6 network cable installed within the conduit. Each cable drop will land in the existing data cabinet.

- Quote assumes PoE Class 3 ports are available in the data cabinet.

Total

\$16,252.46





SENT ON:

Notes Continued...

- Quote assumes video is being transmitted via an existing network to an existing server with space for video data storage.

Quote valid for 30 days. Tax is not included. NET 30 Terms.

Signature:	Date:	